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Question Id : 87827033150 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following Table shows the year-wise data of number of registered cars for four years from
2017 to 2020 in four cities (A, B, Cand D). The last column shows the data of population of these
cities for the year 2020. Based on the data given in the table answer the questions that follow.

Numbers of Registered cars Inthe year 2020
Cities Population of the Cities
2017 | 2018 | 2019 | 2020 (]n Mi]]inn)
A 7500 | 8000 | 9000 | 9500 0.8
B 1200 | 1350 | 1400 | 1500 0.2
C 6000 | 7500 | 8500 | 10000 0.6
D 5000 | 6000 | 6600 | 7400 0.75

Sub questions

Question Number : 1 Question Id : 87827033151 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which city has shown maximum percentage growth (%) in registered cars from 2017 to 2020 ?

1) A

2 B
(3) C
4 D
Options :

878270130441. 1
878270130442. 2
878270130443. 3

878270130444. 4

Question Number : 2 Question Id : 87827033152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the year 2020, per capita registered cars were maximum in the city :

(1) D
2) C
(3) B
4) A
Options :

878270130445. 1
878270130446. 2
878270130447. 3
878270130448. 4

Question Number : 3 Question Id : 87827033153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Taking all the cities together, what is the ratio of total number of registered cars in the year 2020
with respect to 2017 ?

(1) 284:197

(2) 149:154

(3) 142:.79

(4) 53:41
Options :
878270130449. 1
878270130450. 2
878270130451. 3

878270130452. 4

Question Number : 4 Question Id : 87827033154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the average of percentage growth (%) in registered cars across all the cities from the year
2017 to the year 2018 ?

() ~18%

(2) ~16%

(3) ~14%

4) ~12%
Options :
878270130453. 1
878270130454. 2
878270130455. 3

878270130456. 4

Question Number : 5 Question Id : 87827033155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Based on the average growth percentage (%) of registered cars per year (in successive years during
2017 - 2020) in the city A, what will be the estimated number of registered cars in city A in the year
2021 7

(1) ~11225
(2) ~10815
(3) ~10415
(4) ~ 10083
Options:
878270130457. 1
878270130458. 2
878270130459. 3

878270130460. 4

Question Id : 87827033150 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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2017 | 2018 | 2019 | 2020 (R )
A | 7500 | 8000 | 9000 | 9500 0.8
B | 1200 | 1350 | 1400 | 1500 0.2
C | 6000 | 7500 | 8500 | 10000 0.6
D | 5000 | 6000 | 6600 | 7400 0.75

Sub questions

Question Number : 1 Question Id : 87827033151 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
o v # & 2017 § o 2020 T oG FR H arferram wfowd g (%) T e ?

(1) A
2)

(2) B
(3 C
4 D
Options :

878270130441. 1
878270130442. 2
878270130443. 3

878270130444. 4

Question Number : 2 Question Id : 87827033152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a9 2020 ¥ frfafad wet # gfa =afeq dsfighd wR1 i sHfeepay den o
(1) D

2 C
(3) B
4) A
Options:

878270130445. 1
878270130446. 2
878270130447. 3

878270130448. 4

Question Number : 3 Question Id : 87827033153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ot el o W o WA 2017 % e 3 2020 F IR FRI A Fe TN F PN SR &7
(1) 284:197

(2) 149:154

(3) 142:79

(4) 53:41
Options:
878270130449. 1
878270130450. 2
878270130451. 3

878270130452. 4

Question Number : 4 Question Id : 87827033154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(1) ~18%

)~ 16%
3)  ~14%

) ~12%
Options :
878270130453. 1
878270130454. 2
878270130455. 3

878270130456. 4

Question Number : 5 Question Id : 87827033155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) ~1125
(2) ~10815
(3) ~ 10415
(4) ~10283
Options:

878270130457. 1
878270130458. 2
878270130459. 3
878270130460. 4

Sub-Section Number : 2
Sub-Section Id : 8782701411
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827033156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - I1.

List -1 List - II
(Online Teaching Tools) (Advantages for Students)
(A) Learning Management System (LMS) (I)  Collaborating with peers, sharing ideas and
perspectives
(B) Video Conferencing (I) Receiving instant feedback on quizzes and
assessments, fracking progress and
performance
(C) Discussion Forums (I) Accessing course materials and assignments

any time, any where

(D) Online Assessment Platforms (IV) Participating in live online class sessions and
discussions from remote locations also

Choose the correct answer from the options given below :

(1) (AHL), B)-(V), (O)-(), D))

(&) (AHLV), (B, (CH), D))
(3)  (AMII), (B)-(IV), (C){1), O))
(4) (A}, (B)-(), (CHIL), (D)-IV)
Options:

878270130461. 1
878270130462. 2
878270130463. 3
878270130464. 4

Question Number : 6 Question Id : 87827033156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

3
4

878270130461. 1
878270130462. 2
878270130463. 3

878270130464. 4

Question Number : 7 Question Id : 87827033157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing are not the examplee of a positive teacher - student relal‘ionship ?
A) A teacher who punishes students for asking questions.

(

(B) A teacher who provides students with positive feedback and constructive criticism.
(C) A teacher who fosters open communication and mutual respect.

(D) A teacher who humiliates his/her students.

(E) A teacher who ignores the needs and concemns of his/her students.

Choose the correct answer from the options given below :
(1) (B) and (C) Only

() (A), (D) and (E) Only
) (A}, (B), (C)and (D) Only
(4) (B) and (E) Only
Options :

878270130465. 1
878270130466. 2
878270130467. 3
878270130468. 4

Question Number : 7 Question Id : 87827033157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130465. 1
878270130466. 2
878270130467. 3

878270130468. 4

Question Number : 8 Question Id : 87827033158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
(Online Learning Platforms) (Respective Features)
(A) Swayam (I)  Paid courses on creative and entrepreneurial topics
(B) Udemy (II) ~ Free courses from Indian universities
(C) Skillshare (Ill) Video lectures and interactive exercises for k - 12
students
(D) Khan Academy (IV) Paid courses on various topics

Choose the correct answer from the options given below :
(1) (A, B)(I), (CHII), D)-1V)

(&) (AHID, B)-(V), (C)-(1), (D)
(3)  (AHLV), (B, (CHI), D))
(4)  (AHII), (B)-1), (CH1V), DK)
Options :

8782701304609. 1
878270130470. 2
878270130471. 3

878270130472. 4

Question Number : 8 Question Id : 87827033158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(@) (A, B)-0), (CH1V), DHI)
Options :

878270130469. 1
878270130470. 2
878270130471. 3

878270130472. 4

Question Number : 9 Question Id : 87827033159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of collaborative learning ?

(I) A teacher assigns individually a reading assignment and students take notes

(2) A teacher gives lecture on a topic and students take notes individually

(3) A teacher assigns homework for students to complete independently

(4) A teacher assigns a group project and students work together to do research and present

their findings
Options :
878270130473. 1
878270130474. 2

878270130475. 3



878270130476. 4

Question Number : 9 Question Id : 87827033159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130473. 1
878270130474. 2
878270130475. 3

878270130476. 4

Question Number : 10 Question Id : 87827033160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the [Ullnwing Is a pnlenlial drawback of teacher centered instruction ?
(I) It can be more engaging and interactive for students.

(2) It can limit opportunities for students’ creavity and critical thinking.
(3) It promotes students’ independence and self-direction.
(4) It is more efficient and saves time.

Options :
878270130477. 1
878270130478. 2

878270130479. 3



878270130480. 4

Question Number : 10 Question Id : 87827033160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frfefEn o #-91 e Hia ey H H9ifaq FH €7
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Options :

878270130477. 1
878270130478. 2
878270130479. 3

878270130480. 4

Question Number : 11 Question Id : 87827033161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of steps involved in conducting a literature review for a research
study :

(A) Locate literature
(B) Organize the literature

(C) Identify key terms for search

(D) Write a literature review

(E) Critically evaluate and select the literature relevant to research
Choose the correct answer from the options given below :

@) @).6), 0 ) D)
@ (A).©) @) E DO
() (€ (A) 6 @) 0
(@ (€, () (A) @) O

)
) )
) )
(C )
Options:

878270130481. 1
878270130482. 2
878270130483. 3
878270130484. 4

Question Number : 11 Question Id : 87827033161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(L) (A), (B), (©), (E), (D)
2) (A) (©), (B), (E), (D)
(3) (©), (A), (E), (B), (D)
4) (©), (E), (A), (B), (D)



Options :

878270130481. 1
878270130482. 2
878270130483. 3

878270130484. 4

Question Number : 12 Question Id : 87827033162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The systematic elimination of extraneous variables, other than those you are interested in, can be
done in which of the following types of research ?

(1) Qualitative research

2

(3)  Experimental research
g

Longiludinal research

Correlational research

Options:

878270130485. 1
878270130486. 2
878270130487. 3

878270130488. 4

Question Number : 12 Question Id : 87827033162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130485. 1
878270130486. 2
878270130487. 3

878270130488. 4

Question Number : 13 Question Id : 87827033163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When the researcher’s age affects the behaviour of the participant in a study, it refers to :

) Sociological effect

) Biosocial effect

) Psychological effect

) Psychosocial effect

Options :

878270130489. 1

878270130490. 2

878270130491. 3

878270130492. 4

Question Number : 13 Question Id : 87827033163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270130489. 1
878270130490. 2
878270130491. 3

878270130492. 4

Question Number : 14 Question Id : 87827033164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In a negatively skewed distribution, which among the following would be true ?
(A) Mean > Mode

(B) Mean < Median
(C) Median < Mode
(D) Mode > Mean

Choose the correct answer from the Dptiuns given below :

(1)  (A)and (B) Only

(2) (B) and (C) Only
(3) (B) and (D) Only
(4) (A) and (C) Only
Options :

878270130493. 1
878270130494. 2
878270130495. 3
878270130496. 4



Question Number : 14 Question Id : 87827033164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e faum faaor # frafafes # 9 %@ o1 9@ 8m ?
(A) HI=F > dgelsh
(B) HI¥A < HIAH
(C) ekt < SIgerh
(D) decish > HiH
= fou U foredi § ¥ W@ I =9 BT
(1) FEd (A) SR (B)
) ¥ (B) 3R ()
(3) FA (B) 3R (D)
) A (A) 3R (O)

Options :

878270130493. 1
878270130494. 2
878270130495. 3

878270130496. 4

Question Number : 15 Question Id : 87827033165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A researcher obtains the following P values for sample correlation coefficients of different samples.
Which ol“ these can be considered sigm[icant at 5 % level of signi[ icance ?

Choose the correct answer from the options given below :
(1) (A) and (E) Only

(2) (B) and (D) Only

(3) (C) and (E) Only

(4) (A), (C) and (E) Only

Options :

878270130497. 1

878270130498. 2

878270130499. 3

878270130500. 4

Question Number : 15 Question Id : 87827033165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130497. 1
878270130498. 2
878270130499. 3

878270130500. 4

Question Number : 16 Question Id : 87827033166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The term ‘analog media” was originally derived from :
(1) Folk performances

(2) Satellite communication

(3) Internet

(4) Audio recordings
Options :

878270130501. 1
878270130502. 2
878270130503. 3

878270130504. 4



Question Number : 16 Question Id : 87827033166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"urer wifean’ ug =i seafd g fFad gg § 2

(1) o 939

(2) HemEE HREO

(3) FeTR

(4) A (Atfea) sfveraa (fEpfes)
Options :

878270130501. 1
878270130502. 2
878270130503. 3
878270130504. 4

Question Number : 17 Question Id : 87827033167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The automation element of online media has enabled the generation of :
(1)  Limited quantity of quality information

(2)  User specific information

(3) Complex philosophical information
(4) Non-specific general information
Options:

878270130505. 1

878270130506. 2

878270130507. 3

878270130508. 4



Question Number : 17 Question Id : 87827033167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130505. 1
878270130506. 2
878270130507. 3

878270130508. 4

Question Number : 18 Question Id : 87827033168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the fﬂllnwing are the orders of significatinn In communication ?
Denotation

(

(B) Connotation

(C) Myth

(D) Credibility

(E)  Attribution

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

8782701305009. 1



878270130510. 2
878270130511. 3

878270130512. 4

Question Number : 18 Question Id : 87827033168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafas § 9 91 99w % 319 GHhaT wFEa e ?
(A) TEnd (fedresm)

(B) wHgaTY (FAIeIH)

(C) IEEED

(D) Towasraa

(E) IO

i e T foeredl # 9 WE R T FA
(1) = (A), (B) 3R (O)

(2) %9 (B), (C) ¥R (D)
(3) A (C), (D) ¥R (E)
(4) 9 (A), (D) 3R (E)
Options :

8782701305009. 1
878270130510. 2
878270130511. 3
878270130512. 4

Question Number : 19 Question Id : 87827033169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[n the context of communication, pnlil‘ical socialisation is linked to social leamjng in terms of
how ?

(A) Power is attained.

(B) Certain sections of society should be left out of the mainstream.
(C) Social systems are ignored.

(D) Power is used and misused.

(E) Political and economic decisions are made.

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

@ (), () and (D) Only
(3) (A), (D) and (E) Only
(4) (B), (D) and (E) Only
Options :

878270130513. 1
878270130514. 2
878270130515. 3

878270130516. 4

Question Number : 19 Question Id : 87827033169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e % Hest § Terifass AR 58 ¥ 9§ amfees afm 3 e g fE R
(A) TR 9T S

(B) WIS % FD I I YA YN § 7en BIE o I =feu |

(C) Trfees el @ SRR R foan st €
(
(

o

D) I I STAM SR TETAN fohal STl @ |
E) Terifads @R erfes fofr fe s €

i feu o fomredi ® 9 W8 SO F 999 FHife
(1) 9 (A), (B) R (C)
(2) % (B), (C) ¥ (D)
(3) ad (A), (D) 3 (E)
(4) 3 (B), (D) 3 (E)
Options :

878270130513. 1
878270130514. 2
878270130515. 3

878270130516. 4

Question Number : 20 Question Id : 87827033170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  Not every medium has its own grammar.
Statement (II) : Each media grammar has evolved over a period of time and continues to change.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(

Options :



878270130517. 1
878270130518. 2
878270130519. 3

878270130520. 4

Question Number : 20 Question Id : 87827033170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?ﬁ%a“lmmﬁ’qw%‘:

FUF () T A9 T 9 S T & B

O (II) : T HTSA] AR FehA § forehied gu § SR 36H Tier el Tl ¢ |
IR F4A F STcliek §, A 150 0 fored § ¥ Wew e S 99 I ;
(1) g1 3R 1S T &

(2) YA 1 3R FHUR 11 A T

()

(4)

3) U T & Wi e 11T §
4) HUT 1T €, AFFT RO T &
Options :
878270130517. 1
878270130518. 2
878270130519. 3

878270130520. 4

Question Number : 21 Question Id : 87827033171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What number would replace question mark (?) in the series given below ?
1.3, 6,10.15, 21,7 36 ... .

(1) 32
(2) 28
3) 29
4) 30
Options:

878270130521. 1
878270130522. 2
878270130523. 3

878270130524. 4

Question Number : 21 Question Id : 87827033171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

31 & T sfmen B B S geEEE o () # e o ?
3,6 10 18 21 2 38 . . .

(1) 32
(2) 28
(3) 29
(4) 30

Options :

878270130521. 1
878270130522. 2
878270130523. 3

878270130524. 4

Question Number : 22 Question Id : 87827033172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The ratio of water and milk in a 27 litre mixture is 5 : 4. Find the quantity of water to be added to
the mixture in order to make the ratio of water and milk as 3 : 1.

(1) 12 litres

(2) 15 litres
(3) 21 litres
(4) 36 litres

]

Options:

878270130525. 1
878270130526. 2
878270130527. 3

878270130528. 4

Question Number : 22 Question Id : 87827033172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

T 27 e o (0 O 31 G o ST 5:4 €1 39 T ol ) foel v e S fo s

TR 3R g4 1 W 31 7

(1) 12
(2) 15
(3) 21 @
(4) 36
Options :
878270130525. 1
878270130526. 2
878270130527. 3

878270130528. 4

Question Number : 23 Question Id : 87827033173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on a principal amount for 2
years at 10% per annum is < 5431. Find the principal amount.

(1) 54310

(2) 108620

(3) T 453100

(4) 543100
Options :
878270130529. 1
878270130530. 2
878270130531. 3

878270130532. 4

Question Number : 23 Question Id : 87827033173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Y T 10% e 0 4 <) o1 T ol SR FER 5 o ol 3 35431 €1 He
i |

(1) 5410

(2) 7108620

(3) 453100

(4) T 543100
Options :
878270130529. 1
878270130530. 2
878270130531. 3

878270130532. 4

Question Number : 24 Question Id : 87827033174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Two friends A and B Live 140 km apart. They both drive in a straight line towards each other to
meet. If A drives at 80 km/h and B drives at 40 km/hr, then how many kilometres apart will they
be exactly 45 minutes before they meet ?

(1) 70 km

(2) 90 km

(3) 100 km

(4) 80 km

Options :

878270130533. 1

878270130534. 2

878270130535. 3

878270130536. 4

Question Number : 24 Question Id : 87827033174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

& i A 8B, 140 F 0, % ofve o wea €1 3 SR e e o g A ol T TR foew
fer frarema €1 it A, 80 for, 1 fe ey & B, 40 For. 0, e i &t =vn 4 7 = € e e @ I
45 firfe e for fof o, el a7

(1) 70fF

(2) 90

(3) 100 f
(4) 80 fof

Options :

)
)

878270130533. 1
878270130534. 2
878270130535. 3

878270130536. 4

Question Number : 25 Question Id : 87827033175 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a cerfain coded language, RAM' is coded as 32 and ‘SITA" is coded as 49. How 'SHYAM' will
be coded in that language ?

) 73

(2) 49
(3) 6
(

L=

a2

4 3

[

)
)
)

Options :

878270130537. 1
878270130538. 2
878270130539. 3

878270130540. 4

Question Number : 25 Question Id : 87827033175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e it hfed T 'RAM 1 32 o %9 ¥ feq foft 71 © $SITA' 1 49 % %9 ¥ gfert o oy
&1 T 9 H 'SHYAM' 1 ¥ e foran smem ?

1 73
2 49
(3) 66
(4 32
Options:
878270130537. 1
878270130538. 2
878270130539. 3

878270130540. 4

Question Number : 26 Question Id : 87827033176 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Analogy roughly corresponds to :

(1) Anumiti

(2) Upamit

(3) Agama

(4) Pratyaksha

Options :

878270130541. 1
878270130542. 2
878270130543. 3

878270130544. 4

Question Number : 26 Question Id : 87827033176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TIEEAA] Hie d W foheeh o1 &9 8 7
(1) T3
(2) ZufHfd
(3) HTH
(4) YA
Options:

878270130541. 1
878270130542. 2
878270130543. 3

878270130544. 4

Question Number : 27 Question Id : 87827033177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In order to know if the argument is deductive or inductive, out of the four given tests which one
applies to the following example ?

“Alan is a father. Therefore, Alan 1s a male”.

(1)  The Indicator word test
(2)  The Strict necessity test
(3
(

) The Common pattern test
Y

The Principle of charity test
Options :

878270130545. 1
878270130546. 2
878270130547. 3
878270130548. 4

Question Number : 27 Question Id : 87827033177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
7 WA & e o o0 afey FeeTenes & a1 STk &, At fen o = wemedt § § Bm-1 wtem
frpeifcfa SereTa 0 o &1 & 7

"o i €| o oem e gl

b T T

Options :

878270130545. 1
878270130546. 2
878270130547.3

878270130548. 4



Question Number : 28 Question Id : 87827033178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pick a correct observation from the following argument :

“All dogs are cats

All cats are whales

Therefore, all whales are dogs”

(1) It is valid argument and contains true premise and true conclusion
(2) It is invalid argument and contains false premise and true conclusion
(3) Itis invalid argument and contains false premise and false conclusion
(4) Itis invalid argument and contains true premise and false conclusion

Options :

878270130549. 1
878270130550. 2
878270130551. 3

878270130552. 4

Question Number : 28 Question Id : 87827033178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Freffefan afm & o Jam 1 = e -
et e fafeear €
i fafeerl g1 €
aa: ooff g1 Fa 21
(1) 7 A Ffoa € 3R 39H &l 4R a6 391 |el ek ¢ |
(2) ¥ W gfe ¢ 3R THH T SNYR 99 IR e e ©
3) I8 ST IfH © SR 39H el MR 9 3R o feRd €
(4) 7 A FfH ¢ IR 3HH WE SR S AR Terd ek €

Options :

o

878270130549. 1



878270130550. 2
878270130551. 3

878270130552. 4

Question Number : 29 Question Id : 87827033179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Arguments from analogy are generally deductive, weak or strong
Statement (II) : Arguments from analogy are generally inductive and neither valid nor invalid.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270130553. 1

878270130554. 2

878270130555. 3

878270130556. 4

Question Number : 29 Question Id : 87827033179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@Wﬁ’qw%:

FIT () TEwIa ¥ Ffoe T AT, FESIR S Heea o ¢

Y (I1) : TIevaen ¥ Jfe] QrT: SAMTHATes 3R 7 W 3R A € v o € )
I A F A H, Tl U T foedl # 9 W I9ga I B T HAC ;
(1) U1 3N e 11 &

(2)  HYT 19N R 1S T §

(3) YT ITE &, Cifehd e 11 7o ¢
(4) U T &, TR HOR LT &
Options:

878270130553. 1

878270130554. 2

878270130555. 3

878270130556. 4

Question Number : 30 Question Id : 87827033180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the light of syllogistic argument which of the following is/are incorrect ?
(A) The predicate term of the conclusion is the major term.

(B)  The subject term of the conclusion is the minor term.
(C) The middle term must occur only once in the premise.
(D) The middle term must be distributed at least once in the conclusion.

Choose the correct answer from the Dptiﬂns given below :

(1) (B) Only
(2) (B) and (D) Only
(3)  (C) Only
(4) (C) and (D) Only

Options :
878270130557. 1
878270130558. 2



878270130559. 3

878270130560. 4

Question Number : 30 Question Id : 87827033180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
TR gfad & el ¥ frefafed § 9 #5696 78 €2
(A) frerd &1 faie wg ge vg 2
(B) Tt =1 fawg 95 i 9% 2
(C) W™ UE YR 919 § el Tk a1 37999 gH1 =fed |
(D) 1A 9e 1 foerd § &9 F 1 U 9R faeo srava g =fen |

Al feu T foered # 9 W& SR Al =FH i
(1) < (B)

(2) 9 (B) 3R (D)

(3) = (Q)

(4) a4 (C) ¥R (D)

Options:

878270130557. 1
878270130558. 2
878270130559. 3

878270130560. 4

Question Number : 31 Question Id : 87827033181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Anil has an MP?3 file stored on his computer. Which type of data is stored in an MP3 file ?
(1) Video

(2) Sound

(3) Image

(4) Text
Options:
878270130561. 1
878270130562. 2
878270130563. 3

878270130564. 4

Question Number : 31 Question Id : 87827033181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 7 T U H T MP3 W WS @1 | MP3 TEd W o T o ST o1 e o S g 7

Options :

878270130561. 1
878270130562. 2
878270130563. 3
878270130564. 4

Question Number : 32 Question Id : 87827033182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following technologies A-D used in first generation to fourth
generation of computers.

(A) Integrated circuits

(B) Microprocessors

(C) Transistors

(D) Vacuum Tubes

Choose the correct answer from the options given below :
(1) () (©) ®) (A)

(2 (D) (C), (&) @
3) (€ (D), (), ©)
(4) (), (4),(©) (D)
Options:
878270130565. 1
878270130566. 2
878270130567. 3

878270130568. 4

Question Number : 32 Question Id : 87827033182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Vel Uit ¥ =l o) 2 g § 3w i T Fvfafen S (A-D) 1 T FH a
(A) T 9wy (EeE Hfkew)

(B) FEZRIINE

(C) e

(D) foaiia il (W 239)
ﬁ%ﬁqwﬁm’iﬁﬁqﬁmaﬂwﬁm:



878270130565. 1
878270130566. 2
878270130567. 3

878270130568. 4

Question Number : 33 Question Id : 87827033183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements ;

Statement (I) : (1011101), = (5D},
Statement (II) : (C2);, = (11000010},

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement I is correct
Options :

878270130569. 1

878270130570. 2

878270130571. 3

878270130572. 4

Question Number : 33 Question Id : 87827033183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A & FA ﬁ::q e %:

AT (1) : (1011101), = (3D),,

O (1) : (C2)4 = (11000010),

I A F A H, Tl U T foedl # 9 W I9ga I B T HAC ;
(1) U1 3N e 11 &

(2)  HYT 19N R 1S T §

(3) YT ITE &, Cifehd e 11 7o ¢
(4) U T &, TR HOR LT &
Options:

878270130569. 1

878270130570. 2

878270130571. 3

878270130572. 4

Question Number : 34 Question Id : 87827033184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following computer memory types are volatile ?
(A) CMOS memory

(B) Cache memory

(C) Flash memory

(D) Hard disk

(E) RAM

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (A), (©) and (D) Only

(3) (B), (C) and (E) Only

(4) (B) and (E) Only

Options :

878270130573. 1



878270130574. 2
878270130575. 3

878270130576. 4

Question Number : 34 Question Id : 87827033184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frefafed 8 § 7 & TR 1 FEe i Afer (derrd) g6 € ?
(A) i TH 3 TE HEA

(B) B9l WA

(C) Wi HE

(D) @€ fe=k

() $RTTH (W)

A feu o fawedl # 9 W& SO H =g F
(1) e (A), (B) ¥R (E)

(2) =4 (A), (O) 3R (D)

—

)
)
3) %dd (B), (C) 3 (E)
(4) Fa (B) 4R (E)
Options :

878270130573. 1
878270130574. 2
878270130575. 3
878270130576. 4

Question Number : 35 Question Id : 87827033185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

(Storage Media) (Type of storage)
(A) Hard Disk Drive (HDD) ()  Optical
(B) USB Flash Memory (II) Magnetic
(C) Blu ray Disc (IIT) Solid state

Choose the correct answer from the Dptinns given below :

(D (A1), (B)-(I), (O)~(T)
(2)  (A)-(ID), (B)-(I), (C)-(I

) ) )
(3)  (A)-(IL), (B)-(1D), (C)-(D)
(4)  (A)-(I), (B)-(I), (C)-(II)
Options:

878270130577. 1

878270130578. 2

878270130579. 3

878270130580. 4

Question Number : 35 Question Id : 87827033185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gat-1 o |1¢ Geii-11 1 frer™ e
-1 q=i-11
( WSTIUT HrEAw ) ( WEHUT & UehTT )
(A) e fewr gra (w= €1 D) () eAifewa
(B) 9 UH S W19 HAN (I) #HHfew
(C) =g1ifew= (1) wHifae w2

= feu o fowedl § ¥ W@ SO 61 9949 Hife
(1) (A1), (B)~(IID), (C)«(L)
(2)  (A)1D), (B)-(I), (O)-(ILT)
(3) (A1), (B)~(ID), (O)L)
(4)  (A)-(D), (B)-(I), (O)-(II)



Options :

878270130577. 1
878270130578. 2
878270130579. 3
878270130580. 4

Question Number : 36 Question Id : 87827033186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : In the less developed countries of the world indoor exposure to hazardous air
pollutants is much more severe.

Reason (R):  Traditional methods of cooking aften involve fuels such as coal, wood, animal,
dung, kerosene etc.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270130581. 1

878270130582. 2

878270130583. 3

878270130584. 4

Question Number : 36 Question Id : 87827033186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 Fo fou T E o v (Assertion A) F & i frfga 4 FRl T HIW (Reason R) F

wH R

HIHIR (A) : (ol o o7 FoRpfi < o AT a1 YGUaR! a1 R o G Tt e T ey
8l

TOR): T T s fofe ) e, awd, e, S e 58 R 9 m
T febel T & |

Y HYA % A H, A 1 T Foe § | e I A A

(1) (A) 3 (R) <1 5 & 4R (R), (A) 3 Wl A §

() (A) &R (R) SFI 5 &, A (R), (A) F T A TE &

() (A)¥ & oo (R) 5E Tl €

(4) (A) T T @ e (R) TR &

Options :

878270130581. 1

878270130582. 2

878270130583. 3

878270130584. 4

Question Number : 37 Question Id : 87827033187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Addressing nation on independence day 2019, Prime Minister Sri Narendra Modi set a goal of tap
water to every rural house hold by the year :

(1) 2024
Q) 2025
(3) 2027
(@) 2030

=y

Options :
878270130585. 1
878270130586. 2

878270130587. 3



878270130588. 4

Question Number : 37 Question Id : 87827033187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

2019 % Tl feaw % 1 Haf o §Y U A o 0 W) A o A o e e R
6 T 35T F H e fif

(1) 2024
(2) 2025
(3) 2027
(4) 2030
Options :

878270130585. 1
878270130586. 2
878270130587. 3

878270130588. 4

Question Number : 38 Question Id : 87827033188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I ; A nuclear breeder reactor produces more fissile material than 1t consumes.

Statement II:  Present share of nuclear energy in the energy mix of the country is more than
that of renewable energy.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct

Options :



878270130589. 1
878270130590. 2
878270130591. 3

878270130592. 4

Question Number : 38 Question Id : 87827033188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬂwﬁqw%‘:

T A o e foeen o 1 et aw o ¢ 300 aHferd S ST 1 ¢
TR : S W <0 % e (e A 3 o foem e o % ford 8 o R
T FoA 3 s , A fow o fopred # 9 Werd SR I A o I

(1) OISR BRI T
() R 1 3 e 11 S e
(3) HUF IR & O o 1T ¢
(4) YR LTI &, T B 1
Options :

878270130589. 1
878270130590. 2
878270130591. 3

878270130592. 4

Question Number : 39 Question Id : 87827033189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Coral reefs are threatened because of release of sewage in ocean waters near
them.

Reason (R):  Release of sewage in oceans tends to reduce the clarity of ocean water.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270130593. 1

878270130594. 2

878270130595. 3

878270130596. 4

Question Number : 39 Question Id : 87827033189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130593. 1



878270130594. 2
878270130595. 3

878270130596. 4

Question Number : 40 Question Id : 87827033190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Convention on Biodiversity (CBD) was opened for signature during :
(1) Earth Summit
2

Montreal Protocol

(
(3
(

)
3)  Kyoto protocol
)

4 Stockholm Convention

Options :

878270130597. 1
878270130598. 2
878270130599. 3

878270130600. 4

Question Number : 40 Question Id : 87827033190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130597. 1

878270130598. 2



878270130599. 3

878270130600. 4

Question Number : 41 Question Id : 87827033191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are not the characteristics of conventional learning ?
(A) Emphasis on self directed learning and independent study

(B) Students learn through listening and observation

(C) No fixed curriculum

(D) Learner oriented

(E) Require regular attendance

Choose the correct answer from the options given below :

(I) (B) and (E) Only

(2) (A)and (E) Only

(3) (A), (C) and (D) Only
(4) (B) and (C) Only
Options :

878270130601. 1
878270130602. 2
878270130603. 3

878270130604. 4

Question Number : 41 Question Id : 87827033191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130601. 1
878270130602. 2
878270130603. 3

878270130604. 4

Question Number : 42 Question Id : 87827033192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following universities in the chronological order of their establishment.
(A) Banaras Hindu University

(B) Jawaharlal Nehru University

(C) University of Allahabad

(D) University of Delhi

Choose the correct answer from the options given below :

(1) (© (A), D) (B)

2 (A)©), D) 6
©) (A) D) (©) B)
4 (A) (©) (B) D)



Options :

878270130605. 1
878270130606. 2
878270130607. 3
878270130608. 4

Question Number : 42 Question Id : 87827033192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270130605. 1
878270130606. 2

878270130607. 3

878270130608. 4

Question Number : 43 Question Id : 87827033193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements in the context of NEP 2020 :

Statement (I) : It is envisaged that all higher education institutions shall aim to become
autonomous and have an empowered Board of Governors (BoG).

Statement (II) : Institutional Development plan shall be the sole responsibility of the members of
(BoG).

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270130609. 1

878270130610. 2

878270130611. 3

878270130612. 4

Question Number : 43 Question Id : 87827033193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130609. 1



878270130610. 2
878270130611. 3

878270130612. 4

Question Number : 44 Question Id : 87827033194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the [ollowmg is not a value as propnunded b}f the [ndian traditional concept of
Purushartha :

(1) Dharma
(2) Artha

(3) Bhakti

(4) Moksha
Options :
878270130613. 1
878270130614. 2
878270130615. 3

878270130616. 4

Question Number : 44 Question Id : 87827033194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270130613. 1



878270130614. 2
878270130615. 3

878270130616. 4

Question Number : 45 Question Id : 87827033195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which commission/committee recommended that ‘the ordinary amenities and decencies of life
should be provided for women in colleges ordinarily planned for men and that there should be no
curtailment of opportunities for women' ?

(I) Durgabai Deshmukh Committee (1959)

(2) Kothari Commission (1964 - 66)

(3)  Bhaktavatsalam committee (1963)

(4) Radhakrishnan Commission (1948)

Options :

878270130617. 1

878270130618. 2

878270130619. 3

878270130620. 4

Question Number : 45 Question Id : 87827033195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270130617. 1
878270130618. 2
878270130619. 3
878270130620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701412
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827033196 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Fascist economics places itself in between free market capitalism and communism, It criticizes the
former for prioritizing profits over collective goals, for promoting speculation, financial wizardry
that is similar to usury. It agreed to some degree with communists that the capitalist class exploited
the labour force and was insensitive to poor working conditions but disagreed on the solution.
While communists prescribed a proletariat takeover of the means of production followed by a
dictatorship of the proletariat as the panacea to the crisis of capitalism, fascism would choose
instead to resolve class conflicts between labour and capital through state arbitration and corporate
control over the economy. Corporatism is the theory and practice of organizing society into
‘corporations’ subordinate to the state. These corporations would serve as organs of political
consultations and take responsibility, to a large extent, for persons and activities within their
jurisdiction. It differed from communism since it rejected classless egalitarianism. It can be described
as a modern analogue of feudal guild societies. Thus, corporatism served to retain the social order
and hierarchies of feudalism while infusing it with modern industrial methods more conducive for
military competition and arms races,

Another aspect that fascism had in common with feudal economics 1s its emphasis on usury
laws. Both considered charging interest on loans as being exploitative and immoral. This reinforced
a certain worldview which saw tangible sectors such as agriculture and industry as value creating
and finance as a sector that rested on tricks and manipulation,

Sub questions



Question Number : 46 Question Id : 87827033197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fascist economics agreed with communists on the following :

(A) Capitalists are sensitive to the poor working conditions of the labour force.
(B) Capitalists promote speculation.

(C) Capitalists prioritize profits over collective goals.

(D) Capitalists indulge in financial wizardly.

Choose the correct answer from the options given below :

(I) (A),(C) and (D) Only

(2) (B) and (C) Only

() (8), () and (D) Only
@ (A), (B)and (C) Only
Options :

878270130621. 1
878270130622. 2
878270130623. 3

878270130624. 4

Question Number : 47 Question Id : 87827033198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  The communist solution to capital'usm was the take over of the means of prnduction
by the proletariat

Statement I1 ;:  The fascist solution to capita]ism was corporal‘ism.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4)  Statement I is incorrect but Statement II is correct



Options :

878270130625. 1
878270130626. 2
878270130627. 3
878270130628. 4

Question Number : 48 Question Id : 87827033199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Classless egalitarianism policy was followed by :
(1) Feudalism

(2) Capitalism

(3) Communism

(4) Fascism
Options :

878270130629. 1
878270130630. 2
878270130631. 3

878270130632. 4

Question Number : 49 Question Id : 87827033200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fascist economics is based on :

(1) Communism

(2) Capitalism

(3) A mix of communism and capitalism

(4) Feudalism

Options :

878270130633. 1



878270130634. 2
878270130635. 3
878270130636. 4

Question Number : 50 Question Id : 87827033201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fascism :

(A) Considered charging interest as immoral

(B) Valued agriculture and Industry

(C) Rejected hierarchies of feudalism

(D) Believed in corporatism

Choose the correct answer from the options given below :

(I) (A) and (D) Only

(2) (A), (B) and (C) Only

(3) (A), (C) and (D) Only

(4) (A), (B) and (D) Only

Options :

878270130637. 1
878270130638. 2
878270130639. 3
878270130640. 4

Question Id : 87827033196 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Question Number : 46 Question Id : 87827033197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130621. 1
878270130622. 2
878270130623. 3
878270130624. 4

Question Number : 47 Question Id : 87827033198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130625. 1



878270130626. 2
878270130627. 3

878270130628. 4

Question Number : 48 Question Id : 87827033199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130629. 1
878270130630. 2
878270130631. 3

878270130632. 4

Question Number : 49 Question Id : 87827033200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270130634. 2
878270130635. 3

878270130636. 4

Question Number : 50 Question Id : 87827033201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270130640. 4
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Section type : Online
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Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701413
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827033202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130641. 1
878270130642. 2
878270130643. 3

878270130644. 4

Question Number : 51 Question Id : 87827033202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270130641. 1
878270130642. 2
878270130643. 3

878270130644. 4

Question Number : 52 Question Id : 87827033203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
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878270130648. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270130645. 1
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878270130648. 4

Question Number : 53 Question Id : 87827033204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270130652. 4

Question Number : 53 Question Id : 87827033204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TL%?E’:@:Lufqu,f;,;'LﬂfJﬁgfLilfij”'

Jee (D)
By ()
ik (B)
Ly (4)

Options :

878270130649. 1
878270130650. 2
878270130651. 3

878270130652. 4

Question Number : 54 Question Id : 87827033205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e SIBTabr” SBS TS S P

L)

e (D
g (2)
. (3)
o (4)

Options :

878270130653. 1



878270130654. 2
878270130655. 3

878270130656. 4

Question Number : 54 Question Id : 87827033205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e IR o™ SB L S S S

' O
g (D)
. (3)
o (4)

Options :

878270130653. 1
878270130654. 2
878270130655. 3

878270130656. 4

Question Number : 55 Question Id : 87827033206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
?g_y}'wf A a2
'J(:r (1)
)
Gawe (3)
Sk (4)



Options :

878270130657. 1
878270130658. 2
878270130659. 3
878270130660. 4

Question Number : 55 Question Id : 87827033206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

?g_y}'wf PO {3y

g (D
64 ©
Sree (3)
S (4)

Options:

878270130657. 1
878270130658. 2
878270130659. 3
878270130660. 4

Question Number : 56 Question Id : 87827033207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tuﬁdygéuﬁﬁf'
ovidms Aol (D

v (2)
il To s (3)

odeg® @
Options:
878270130661. 1
878270130662. 2
878270130663. 3
878270130664. 4

Question Number : 56 Question Id : 87827033207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
?uﬁﬁykféiuﬁﬂng
JLidss Al (1D

ot ()

ehidniTo s (3)

odsgf 4)
Options :

878270130661. 1

878270130662. 2



878270130663. 3

878270130664. 4

Question Number : 57 Question Id : 87827033208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S A B S T LS P 5 o LS S
,.#L'g_,.?fb (1)

feaibed (2)
B 3)
AL (4)
Options :
878270130665. 1
878270130666. 2
878270130667. 3

878270130668. 4

Question Number : 57 Question Id : 87827033208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
S B A T LY P 5 S L s S
LS (1)
padopsd ()
V€ ))

,._;".'L,l.!‘f (4}

Options :



878270130665. 1
878270130666. 2
878270130667. 3

878270130668. 4

Question Number : 58 Question Id : 87827033209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?;‘_I'__lf'lfdb;'"h/;!JJJ*Q'EB.;.:.A:V{/.!'&/}( f.,i-b:vr:-ﬁ-Ujurf

..'Ulraxlﬂr (1
= Ll (2)
J¢ )

Ao @)
Options :
878270130669. 1
878270130670. 2
878270130671.3

878270130672. 4

Question Number : 58 Question Id : 87827033209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'i‘;:__l',:'lfdb:'"la/;;}Jﬂ&ﬂfﬂv{;ﬂﬁ/‘f f,i-b:g_,r:d'_.ijrf

..'Ul_,a.fr (1
= LI (2)
J¢ )

-

BT (4)



Options :

878270130669. 1
878270130670. 2
878270130671. 3
878270130672. 4

Question Number : 59 Question Id : 87827033210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" roa &
?L_,.g;l;)’;f.;‘_LJlJ sl St

._,'Lururl.? (1)

NVARY.- b3k (2)

2 (3)

LG (4)

Options:

878270130673. 1
878270130674. 2
878270130675. 3

878270130676. 4

Question Number : 59 Question Id : 87827033210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" roa &
?L_,-"}';U.)’Ls'_ WAL a8 sl S50

ASSE (D
ey (2)
Fz Q)

Il (4)

Options:

878270130673. 1
878270130674. 2
878270130675. 3
878270130676. 4

Question Number : 60 Question Id : 87827033211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BEF ORIy [ SN O
Gl U19470n. (1)
PR P C S8 S (N )
-;:_d}l.fﬁ'.ilﬂjlff (3)
PV 1Y ﬁl;‘-‘;f.ﬁ(:g i, @)
Options :
878270130677. 1
878270130678. 2

878270130679. 3
878270130680. 4

Question Number : 60 Question Id : 87827033211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
LGB 2 P LIS I L (02 e
e E 047 st (D
qf:_glj,«'iﬁ}'}..-lj‘g’ﬁ’u:djtjl (2)
_;:_J:I:lﬁ’.il,ﬂjlff (3)
PV 1Y ﬁl;i'f,ﬁ(.j i, @)
Options :
878270130677. 1
878270130678. 2

878270130679. 3

878270130680. 4

Question Number : 61 Question Id : 87827033212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
feifle /it

ekl ewn Wit )’u,urf” U8 S Jummwmg’uwldjuf Ik
VAL el

Jier (1)
J@lar 2)
482 )
_-:s/ff 4)

Options :

878270130681. 1
878270130682. 2
878270130683. 3

878270130684. 4



Question Number : 61 Question Id : 87827033212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
?é.;.éLLgErurJ JL_.-;U:}E)J)

T b S L S B DSBSl P
WALl sl

e Q)
..llr'.fjb 3)
BN ANC)

Options :

878270130681. 1
878270130682. 2
878270130683. 3
878270130684. 4

Question Number : 62 Question Id : 87827033213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
-__L_{LE;EJJTIELLEJw.;f,‘linb’_frdwﬂxfdf'L:"
—.vﬂ-y?{[jlilgliﬁ'lLJ’!L:_EJ!VI—:L'J.’E (1)
S 7 Sl oper 2 ;
-‘:'_L_;Jlr_ﬁ.r.fb/fb g%lu—lupﬂu-:ﬁzﬁ.dﬂ (2)
el e apnbbe K (3)
ce e L UL pf LiomiiSy  (4)
Options:

878270130685. 1



878270130686. 2
878270130687. 3

878270130688. 4

Question Number : 62 Question Id : 87827033213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
- ESsEl 2 LW SPINL i )
..;:_li—ﬁ:',{.*'#}lﬂ&l;f'lLJ}:L&E;:JJ}L‘ (1)
etz PP Se i A 2L @)
,;:_I::Lk",’fu.f._,_ﬁ* Af;ckbl‘u‘:‘:r’&];i: (3)
e e lULpp LioiiSt  (4)
Options:
878270130685. 1
878270130686. 2

878270130687. 3
878270130688. 4

Question Number : 63 Question Id : 87827033214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

; P e v ‘
?c:_u':‘fﬁid& .m"";ﬁ%t-',;:ful'l.w”l.r UL vtrut $O¥S)

IRl (1)
RO )
S (3)

LSy (4)



Options :

878270130689. 1
878270130690. 2
878270130691. 3
878270130692. 4

Question Number : 63 Question Id : 87827033214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ ’f” i 1 4 |
?c‘_u':‘fﬁ:'_ﬁ'ﬁ;. .@L’JRUJ}‘?UJ’UW LIPS 00,

Il (1)
RO )
df}'._;“-'r (3)

LS (4)
Options:
878270130689. 1
878270130690. 2
878270130691. 3
878270130692. 4

Question Number : 64 Question Id : 87827033215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



?.:_‘_:‘_..:’_Ufu"J é}:ﬂuﬂ"w E’L,'J'JL‘/E-LJE 3

“.,,:,'J@_,ju_}m__r_:lﬂ,,ﬂf”

S (D

2 @

Fou (3)

By 4)

Options:

878270130693. 1
878270130694. 2

878270130695. 3

878270130696. 4

Question Number : 64 Question Id : 87827033215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S 2 1S LJM'JM i{u'HL‘;i:-uE 5

ik i . & tan
Woa e iseaslic by

-~
|

S8 (D

L )
S (3)
S (4)

Options :

878270130693. 1
878270130694. 2
878270130695. 3

878270130696. 4



Question Number : 65 Question Id : 87827033216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?c'_l)‘.',ffihmfw@.»’“m“d Lx;,L”J'g} P S

rifd (2
Al (3)

Jegey (4
Options :
878270130697. 1
878270130698. 2
878270130699. 3

878270130700. 4

Question Number : 65 Question Id : 87827033216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?c:_lﬁ;fif"fwi;ﬂ”mr"d Lx;,L”;rw g0 T .._:rfrul

T risd  (2)
Al (3)

JBpts @
Options:
878270130697. 1

878270130698. 2



878270130699. 3
878270130700. 4

Question Number : 66 Question Id : 87827033217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G 16 Sr o e A
Lok ST (D)
L Q)
.:,u_g’ldb,u-' (3)
=B (4
Options :

878270130701. 1
878270130702. 2
878270130703. 3

878270130704. 4

Question Number : 66 Question Id : 87827033217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

O 1l E'....@'{Qrug_,f;fﬁpf: U A gsi'{-'u:,wl
EJJK—F#T ( 1 }

wf ()
.:;u_g’ldb,u-' (3)
=L (@

Options :
878270130701. 1

878270130702. 2



878270130703. 3

878270130704. 4

Question Number : 67 Question Id : 87827033218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
. -~ " a ¥ ] = 5 L Vi 1 . P
FibLyriLiie b chtnihe el pSuinncbin A umb 2 sy i of %

<Ay

yi o
?{-L.fr"'u{‘/”ufdh

=) (1)
gl (2)
i 0
Wit (4)

Options :

878270130705. 1
878270130706. 2
878270130707.3

878270130708. 4

Question Number : 67 Question Id : 87827033218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



.. R R T : " i b | . (om (oom
Wb Ly Libied Ko ile i bl pSusussngbin PGS pbmE 2 b Lo 6320

“.ui"’*'gé.fc"‘wl
A SN
) ()
gl (2)
il )
1 (@)

Options:

878270130705. 1
878270130706. 2
878270130707. 3
878270130708. 4

Question Number : 68 Question Id : 87827033219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

cpdie AL S

oo (D
o4 (2)
L ()
E:,.JE (4)

Options :

878270130709. 1
878270130710. 2
878270130711. 3
878270130712.4



Question Number : 68 Question Id : 87827033219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-

cpdse P AL B

»o (D
£ @
L G)
.‘f,k (4)

Options :

878270130709. 1
878270130710. 2
878270130711.3
878270130712. 4

Question Number : 69 Question Id : 87827033220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?,_:-__5&-&'1'“{';(“%|JL1;*|5_L¢$|45‘J| ¥
dﬂﬂjgu;' (D)
S rge (@)
bl st A2 (3)
LA )]
Options:

878270130713. 1



878270130714. 2
878270130715. 3

878270130716. 4

Question Number : 69 Question Id : 87827033220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?'a"——ﬂ.’."‘J u(u;“z '-"lﬂ"";';:-l-’"l':h{i‘J'“

Gy D
SAFE g ()
Ligsg g, (3)

0 (D)
Options :
878270130713. 1
878270130714. 2
878270130715. 3
878270130716. 4

Question Number : 70 Question Id : 87827033221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SIT IO I IV (WY -3
AI6d e Q)
i (2)
Je g (3)
~L Al (4)
Options :
878270130717. 1
878270130718. 2

878270130719. 3
878270130720. 4

Question Number : 70 Question Id : 87827033221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TLEEV#UC£A“¢§n_3‘”£:1,ﬂifi;,LﬂLtj
Aded g )
Sl (@)
Jedy ()
VL (4)
Options :
878270130717. 1
878270130718. 2

878270130719. 3
878270130720. 4

Question Number : 71 Question Id : 87827033222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"? "ufu?r' i"__ urﬁlf.:"rﬁ I- E',{_;f 3

Syl (1)
.;_::"“;.:..«/‘3' (2)
.:a;‘ﬁ;jl (3)

ﬁ,:)lgr (4)

Options :

878270130721. 1
878270130722. 2
878270130723. 3
878270130724. 4

Question Number : 71 Question Id : 87827033222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ "L,-I’lu?:':' i'T_- uﬂf:".}; ] E',L;.ru 3

Car il (1)
.;,,5';:..«/‘2’ (2)
.:,;‘F;jl (3)

ﬁ,:;l.:r (4)

Options :

878270130721. 1
878270130722.2
878270130723.3

878270130724. 4



Question Number : 72 Question Id : 87827033223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Ce A SFEL LS
S ¢ )
R )
uE;:ﬂ;pﬂf (3)

Frakk @
Options :
878270130725. 1
878270130726. 2
878270130727. 3

878270130728. 4

Question Number : 72 Question Id : 87827033223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Ce b g S EL LS
=Kl Bl.i'l._f}? (1)
P )
.,_,-"-fnl.::.«b? (3)

Feak @
Options :
878270130725. 1
878270130726. 2
878270130727.3



878270130728. 4

Question Number : 73 Question Id : 87827033224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

?‘:—-a&ﬂvarf‘héyl-avw L A6t o7

&

o’l"/"uu"

Sl ()
LFJL'.-*E‘LE“:,W (3)

(D

L:{Jxl.:.;:,flffllu”} (4)
Options :
878270130729. 1
878270130730. 2
878270130731.3

878270130732. 4

Question Number : 73 Question Id : 87827033224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

?%ﬂu(ufnéyﬁvw £l AGls 7

&

a.:fl"/' Ik

ik ()
LFJL'.-*(LE“:H (3)

(1)

aa hi

bashS @
Options :
878270130729. 1

878270130730. 2



878270130731. 3

878270130732. 4

Question Number : 74 Question Id : 87827033225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wtnlile 2 e nan 32 s
AN ¢)
Jig ()
I )
A T 4)
Options :

878270130733. 1
878270130734. 2
878270130735. 3

878270130736. 4

Question Number : 74 Question Id : 87827033225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

s -~ -
e TR Y Y ) B2y
Wt e {"’,,_,f-"'I ‘;_L'-t«* VWAL

#

g (D
l..-rl.k-"'f (2)
4 3
3|:#..'¢—’" (4)

Options :

878270130733. 1



878270130734. 2
878270130735. 3

878270130736. 4

Question Number : 75 Question Id : 87827033226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST S i e
s b dr ()
Frf” @

D PR )
I | S 4)

Options :

878270130737. 1

878270130738. 2

878270130739. 3

878270130740. 4

Question Number : 75 Question Id : 87827033226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST S i e
s b dr ()
P @

o bl iz (3)
A \-J;[_,l‘ — 4)



Options :

878270130737. 1
878270130738. 2
878270130739. 3
878270130740. 4

Question Number : 76 Question Id : 87827033227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Je o e S 2
EJJJ;JLﬁld{L;,fL,f:L; ﬁ:

T N ¢)

Sl s (2)
dre 2 (3)
UTJI:Tr‘:EiJLf' (4}

Options:

878270130741. 1
878270130742. 2
878270130743. 3

878270130744. 4

Question Number : 76 Question Id : 87827033227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Je S e S S 2
Lo A T S AG TS
PRI
VT A 0D

Sl Q)
dre s @)
AT (@)

Options:

878270130741.1
878270130742. 2
878270130743. 3

878270130744. 4

Question Number : 77 Question Id : 87827033228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?.:_Ji.i;_,r.‘:f_rfdjl,jluf LEE L

=

AL (D
S @
il (3)

;Eﬂ'xufi.}ju 4)
Options :
878270130745. 1
878270130746. 2
878270130747. 3
878270130748. 4



Question Number : 77 Question Id : 87827033228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ce JEUL e AU Ll Ui

o

AL (1)
g (2)
il (3)

G5 @
Options :
878270130745. 1
878270130746. 2
878270130747. 3

878270130748. 4

Question Number : 78 Question Id : 87827033229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
J'l:,l; Ij?ftrjf {,,?!‘léa.-':f:.li{

e eyt
.

- EWEYE L S A

mdEE (D)
L (2)
Kur @3)
S )

Options :

878270130749. 1



878270130750. 2
878270130751. 3

878270130752. 4

Question Number : 78 Question Id : 87827033229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
;'1;!; I;it.rjf L,?!‘ls:'ru:_’):.ﬁf

AW

L EGISE LS A
wddE (D

L (2)

Fir @)

s 4)

Options :

878270130749. 1
878270130750. 2
878270130751. 3

878270130752. 4

Question Number : 79 Question Id : 87827033230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“d;(d] F O L B L 2 e
m?‘? (D
255 (2)
RS (3)
s @
Options :
878270130753. 1
878270130754 2

878270130755. 3
878270130756. 4

Question Number : 79 Question Id : 87827033230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
?d;uqxll-‘u'u{‘gfbr_ﬁfb”LL,IL:-,fl,r_f-«
o F (D
5 (2)
TS I € )
& @
Options :
878270130753. 1
878270130754. 2

878270130755. 3
878270130756. 4

Question Number : 80 Question Id : 87827033231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
'éﬁ;wg&ﬁhﬂﬂf'ﬁ;ﬁiu:.;*é.luf.’u.j

1889_1966 (1)
18881965 (2)
1860-1970 (3)
1880-1976 (4)

Options :

878270130757. 1

878270130758. 2

878270130759. 3

878270130760. 4

Question Number : 80 Question Id : 87827033231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
E ISy 2 P L A1
1889-1966 (1)
1888-1965  (2)
1860-1970  (3)
1880.1976  (4)

Options :

878270130757. 1
878270130758. 2
878270130759. 3

878270130760. 4

Question Number : 81 Question Id : 87827033232 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

._,I.d" ,ﬁ,i.

0,5 138 PR hurfu it y‘r.;_,fﬁ_/_".«:t‘.:/ag“,;. :,-;,_,-rfl.:}lr“.,.«fr';..{lL g

oot Sstd (1)

JJJE;’I’F/”U} (2)

WE @

Sl @

Options :

878270130761. 1
878270130762. 2
878270130763. 3

878270130764. 4

Question Number : 81 Question Id : 87827033232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

?Jxﬁ'g_fc:..f{.:*_.,5MJEl.Jrurj}ir.;_,fﬁ_/_“aff/ag“;;3,-.,_,-"*€|.:Jlr’“TJDK..QL 3L‘EJ'.,_I;

oot s (1)

JJJE;’I{‘/”U} (2)

WE 3

.,_fof; 4)

Options:

878270130761. 1
878270130762. 2
878270130763. 3

878270130764. 4



Question Number : 82 Question Id : 87827033233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
?c:-uifu@ﬂf'af»-iawl"u.:—'fufu'.'iiw
o= (1)
LR A )
LN €))
;Ei?HE (4)
Options :
878270130765. 1
878270130766. 2
878270130767. 3

878270130768. 4

Question Number : 82 Question Id : 87827033233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

-

?{—u':fufi)ﬁ"f'?Jﬂurw'fvfutiﬁﬂ

LS (D

UL AN )

$2dkz#T (3)

Lty @

Options :

878270130765. 1
878270130766. 2
878270130767. 3

878270130768. 4



Question Number : 83 Question Id : 87827033234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

';"‘Ef? .J“"-E 17 U~ e - LYY
£ N Sig  Ux gt L 4 Ol

Options :

878270130769. 1
878270130770. 2
878270130771.3

878270130772. 4

Question Number : 83 Question Id : 87827033234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S W)
ajgb/_-«!; (2}

Options:

878270130769. 1
878270130770. 2
878270130771.3

878270130772. 4

Question Number : 84 Question Id : 87827033235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
EL Uik Dastidile ™
h&fi)ﬂhpk (1)
nzlf_lf,*ly’l?. (2)
JE gk (3)
Il Py (4)
Options :
878270130773. 1
878270130774. 2

878270130775. 3

878270130776. 4



Question Number : 84 Question Id : 87827033235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
L Uik Dastaidle ™
L_,'Efu'l.?rl;[::{ (1)
nzlf_l_,:lh,.’l?. (2)
J B gk (3)
n.flf_l_,?‘ﬁ[‘I: (4)

Options :

878270130773. 1
878270130774. 2
878270130775. 3

878270130776. 4

Question Number : 85 Question Id : 87827033236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

St e i el KT L n i S A Lonns’ P 2

=3yl (D
7 (2)
o) S ¢
=L/F @

Options :

878270130777. 1
878270130778. 2
878270130779. 3
878270130780. 4



Question Number : 85 Question Id : 87827033236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S e el KT g 25 kA L’ 2P

=3yl (D
7 (2)
o) S ¢
=L/F @

Options :

878270130777. 1
878270130778. 2
878270130779. 3
878270130780. 4

Question Number : 86 Question Id : 87827033237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

VAP bt it

2 (D)
)
o)
s @

Options:
878270130781. 1
878270130782. 2

878270130783. 3



878270130784. 4

Question Number : 86 Question Id : 87827033237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?Lgéiijyyydhuwvﬁ’éﬁéi

2B (D)
g @
o3
F@

Options :

878270130781. 1
878270130782. 2
878270130783. 3

878270130784. 4

Question Number : 87 Question Id : 87827033238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-l L R
gt 2 (D)

S V- A8 T ¢))

WO AUy B 1887 U (3)
dw 2193508 7 (4)

Options :

878270130785. 1



878270130786. 2
878270130787. 3

878270130788. 4

Question Number : 87 Question Id : 87827033238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
~Z Sz F7 L AP

g 5 A ()

P Y 2 TR )

WO AUy B 1887 U (3)
dw 2193508 7 (4)

Options :

878270130785. 1
878270130786. 2
878270130787. 3
878270130788. 4

Question Number : 88 Question Id : 87827033239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



PgL—.ﬁ::Lf’i‘.'_-r l:l._,.-rfd:.- 1 RETIJL'J’-: 12;;JI:.5|_!J)|L§:L’+“
ki
SIVE] (1
/;‘E'Ul_.ﬁ' (2)
_L}fg,%u (3)
Sl (4)
Options:
878270130789. 1
878270130790. 2

878270130791. 3
878270130792. 4

Question Number : 88 Question Id : 87827033239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?ﬂf_ﬂ';’jﬂu:_.f l:._f’:.:, ] 8571,; gl Z“JI,-;lg:uld'h i
L,l,:"'-,'r.-'[.«-‘;' (1
A (2)
Y (3)

Sl (4)
Options :
878270130789. 1
878270130790. 2
878270130791. 3
878270130792. 4

Question Number : 89 Question Id : 87827033240 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Sleire

S w5 uf Ut AU
pil | (1)
S Q)
Vi )
JEE )
Options :

878270130793. 1
878270130794. 2
878270130795. 3

878270130796. 4

Question Number : 89 Question Id : 87827033240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T eI iore

-~

i - i - 5
EnCi Sl 7t (Y

PR T eV
2l (1
S (2)
M B
SFES @)
Options :

878270130793. 1
878270130794. 2
878270130795. 3
878270130796. 4

Question Number : 90 Question Id : 87827033241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

O 4200 L B a6 120 ol 3P e

U3z 4T (D

ST (2)
;,,r""l? o (3)
O (4)

Options :
878270130797. 1
878270130798. 2

878270130799. 3



878270130800. 4

Question Number : 90 Question Id : 87827033241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0B 4210 LKL 3 s 6 N2 ol 3P e
JL‘._'N_JJT (1)

ST ()

T b (3)

Ord (4)
Options :
878270130797. 1
878270130798. 2
878270130799. 3

878270130800. 4

Question Number : 91 Question Id : 87827033242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

Wit f-q_fc:-%fﬁwfm' (A)
d;;L;JLq,L*g_{_f;.L}L;‘",m (B)
S $rptSmn (O
uu-ur:);f“‘-J:elf,ﬁL;.T;f(’ﬁ‘;cf;,r:mﬁml (D)

(BlsA) (1)
(C) (A (D)
(D) s(B)  (3)
DAy D

Options:

878270130801. 1
878270130802. 2
878270130803. 3

878270130804. 4

Question Number : 91 Question Id : 87827033242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

Wit f-q_fc:-%fﬁwfm' (A)
d;;L;JLq,L*g_{_f;.L}L;‘",m (B)
S $rptSmn (O
uu-ur:);f“‘-J:elf,ﬁL;.T;f(’ﬁ‘;cf;,r:mﬁml (D)

(BlsA) (1)
(C) (A (D)
(D) s(B)  (3)
DAy D

Options:

878270130801. 1
878270130802. 2
878270130803. 3

878270130804. 4

Question Number : 92 Question Id : 87827033243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-“gﬂ);/)g-hﬁnulﬁgg,ﬂjuufii

el e g # LU LTIl (A)

B I A A UKUNLG et (B)
NP el PP A SAPIN - G (®)
e U LS PT st an® (D)

(A (D)
Bls(A)  (2)
Bls(CY  (3)
(© (D) @

Options:

878270130805. 1
878270130806. 2
878270130807. 3
878270130808. 4

Question Number : 92 Question Id : 87827033243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-“gﬂ);/)g-hﬁnulﬁgg,ﬂjuufii

el e g # LU LTIl (A)

B I A A UKUNLG et (B)
NP el PP A SAPIN - G (®)
e U LS PT st an® (D)

(A (D)
Bls(A)  (2)
Bls(CY  (3)
(© (D) @

Options:

878270130805. 1
878270130806. 2
878270130807. 3
878270130808. 4

Question Number : 93 Question Id : 87827033244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

l:r-d#:fuutl_"a{?dl;qgf__fﬁ b (A)
i bl Lﬂ'...jr_:(u") ‘U (B)
I:f..{/;:*_.l,g_f__x'flkl:‘isf_i (©)

JJ&-:,-?JU’;'JJ;‘};-_JJUE:_L-/( (D)

(D) s(A)Y (D
BlsA)  (2)
(D)s(C)  (3)
(©).B) @D

Options:

878270130809. 1
878270130810. 2
878270130811. 3

878270130812. 4

Question Number : 93 Question Id : 87827033244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

l:r-d#:fuutl_"a{?dl;qgf__fﬁ b (A)
i bl Lﬂ'...jr_:(u") ‘U (B)
I:f..{/;:*_.l,g_f__x'flkl:‘isf_i (©)

JJ&-:,-?JU’;'JJ;‘};-_JJUE:_L-/( (D)

(D) s(A)Y (D
BlsA)  (2)
(D)s(C)  (3)
(©).B) @D

Options:

878270130809. 1
878270130810. 2
878270130811. 3

878270130812. 4

Question Number : 94 Question Id : 87827033245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

B ISP ST (A)
e s Pkt ST L (B
-{_f&f(ruwlb’d;ﬁf:&’:ﬁ (@3]
_;:_,'3511' e I ;l,Tr':E’ e (D)

(D)sA)Y (D
(C).(D)  (2)
(O.(A)  (3)
(©).B) @D

Options:

878270130813. 1
878270130814. 2
878270130815. 3

878270130816. 4

Question Number : 94 Question Id : 87827033245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

B ISP ST (A)
e s Pkt ST L (B
-{_f&f(ruwlb’d;ﬁf:&’:ﬁ (@3]
_;:_,'3511' e I ;l,Tr':E’ e (D)

(D)sA)Y (D
(C).(D)  (2)
(O.(A)  (3)
(©).B) @D

Options:

878270130813. 1
878270130814. 2
878270130815. 3

878270130816. 4

Question Number : 95 Question Id : 87827033246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

< ET A uke (A
ceHf B0/ (B)
RS YL I - B Y (®)

-t P (D)

(B) »((A) (D)
(OB  (2)
(D) (3)
B)s(D) @)

Options:

878270130817. 1
878270130818. 2
878270130819. 3

878270130820. 4

Question Number : 95 Question Id : 87827033246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

< ET A uke (A
ceHf B0/ (B)
RS YL I - B Y (®)

-t P (D)

(B) »((A) (D)
(OB  (2)
(D) (3)
B)s(D) @)

Options:

878270130817. 1
878270130818. 2
878270130819. 3

878270130820. 4

Question Number : 96 Question Id : 87827033247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



il
15&1@'&.}:[}5‘-“3%”;3@ DB S

fﬁyga;.i_,lj,;r'lﬁ’;:_l,u:a;.r‘?ﬁ_.,...,.,f_r:“bf;;.;"_,l?/cf.ule;:_ﬁ..;JIL:E’ (A)
Eéﬁ_lf.:.#'_h._glf‘b/;:_l,;rr;.(?ﬁ---__fﬂub-(c;.;T_.lgr/cf.uHa:.'_f_;:MPE (B)

-":—-l_..’l.f.: qu)l?:é_:!u’?é_.a/bur:u!’-_--_c_ﬂffdi ;Lgfﬁ’ifl:‘};uli (C)

o aw

e Ul is S e LA Fieaee e i3 AL il )y (D)

(Ays(C) (1)
(A)s(D)  (2)
Cr(D) (3)
Bls(A) @)

Options:

878270130821. 1
878270130822. 2
878270130823. 3

878270130824. 4

Question Number : 96 Question Id : 87827033247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



il
15&1@'&.}:[}5‘-“3%”;3@ DB S

fﬁyga;.i_,lj,;r'lﬁ’;:_l,u:a;.r‘?ﬁ_.,...,.,f_r:“bf;;.;"_,l?/cf.ule;:_ﬁ..;JIL:E’ (A)
Eéﬁ_lf.:.#'_h._glf‘b/;:_l,;rr;.(?ﬁ---__fﬂub-(c;.;T_.lgr/cf.uHa:.'_f_;:MPE (B)

-":—-l_..’l.f.: qu)l?:é_:!u’?é_.a/bur:u!’-_--_c_ﬂffdi ;Lgfﬁ’ifl:‘};uli (C)

o aw

e Ul is S e LA Fieaee e i3 AL il )y (D)

(Ays(C) (1)
(A)s(D)  (2)
Cr(D) (3)
Bls(A) @)

Options:

878270130821. 1
878270130822. 2
878270130823. 3

878270130824. 4

Question Number : 97 Question Id : 87827033248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:éﬁilﬁ"gﬂ)s/)g_hﬁuulﬁggfjuufii

i A s #,::L? 73 (A)
et 2181208 2 (B)
-%JJPLEJJTL}'L;U'!"L-%JUF:L{'{,:’ (C)

LS bepf ity (D)

(@B (D
D)(C)  (2)
DAY (3)
Cls(A) D)

Options:

878270130825. 1
878270130826. 2
878270130827. 3

878270130828. 4

Question Number : 97 Question Id : 87827033248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:éﬁilﬁ"gﬂ)s/)g_hﬁuulﬁggfjuufii

i A s #,::L? 73 (A)
et 2181208 2 (B)
-%JJPLEJJTL}'L;U'!"L-%JUF:L{'{,:’ (C)

LS bepf ity (D)

(@B (D
D)(C)  (2)
DAY (3)
Cls(A) D)

Options:

878270130825. 1
878270130826. 2
878270130827. 3

878270130828. 4

Question Number : 98 Question Id : 87827033249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-“gﬂ);/)g-hﬁnulﬁgg,ﬂjuufii

qc:_-";,:g_;f”b/.!JJ_!|“|,-:_$"“EU""”rlb,.i}f'ﬂ:”;ﬁ’r.!‘ﬁ (A)
e A s S e Ag AL (B)
UL e A AL R (O

...;:_“fz?"w:ﬁr”lfr:u:l“uljj,;’“,;lfﬁ_;"i U{;KL:'!'M (D)

(Bls(A) (1)
D)s(C)  (2)
DAY (3)
(D) (B @

Options:

878270130829. 1
878270130830. 2
878270130831. 3
878270130832. 4

Question Number : 98 Question Id : 87827033249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-“gﬂ);/)g-hﬁnulﬁgg,ﬂjuufii

qc:_-";,:g_;f”b/.!JJ_!|“|,-:_$"“EU""”rlb,.i}f'ﬂ:”;ﬁ’r.!‘ﬁ (A)
e A s S e Ag AL (B)
UL e A AL R (O

...;:_“fz?"w:ﬁr”lfr:u:l“uljj,;’“,;lfﬁ_;"i U{;KL:'!'M (D)

(Bls(A) (1)
D)s(C)  (2)
DAY (3)
(D) (B @

Options:

878270130829. 1
878270130830. 2
878270130831. 3
878270130832. 4

Question Number : 99 Question Id : 87827033250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) (1)
(A)s(C)  (2)
Brs(A)  (3)
B) (C) D

Options:

878270130833. 1
878270130834. 2
878270130835. 3

878270130836. 4

Question Number : 99 Question Id : 87827033250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) (C) D

Options:

878270130833. 1
878270130834. 2
878270130835. 3

878270130836. 4

Question Number : 100 Question Id : 87827033251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D)s(C)  (3)
(D) .4(B) (4)

Options :

878270130837. 1

878270130838. 2

878270130839. 3

878270130840. 4

Question Number : 100 Question Id : 87827033251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) .4(B) (4)

Options :

878270130837. 1

878270130838. 2

878270130839. 3

878270130840. 4

Question Number : 101 Question Id : 87827033252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-“gﬂ);/)g-hﬁnulﬁgg,ﬂjuufii

_J?Jilp.:{}f‘grl_ Al_ﬁﬁ;l,;:cf.dt‘:@d;bd‘f&: (A)
635 il B
-|.¢§|f'ﬂ|_ﬁKJLJJL;@JJNHQ'L&.L&#U‘; ()

e 2IIHKSIED ES KA SF S (D)

(D) »(B) (D
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(B) »i(A)  (3)
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Options:

878270130841. 1

878270130842. 2

878270130843. 3

878270130844. 4

Question Number : 101 Question Id : 87827033252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130841. 1

878270130842. 2

878270130843. 3

878270130844. 4

Question Number : 102 Question Id : 87827033253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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O©xB) (2
(B)s(A)  (3)
(D) .(C) (D)
Options :
878270130845. 1
878270130846. 2

878270130847. 3

878270130848. 4

Question Number : 102 Question Id : 87827033253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270130846. 2

878270130847. 3

878270130848. 4

Question Number : 103 Question Id : 87827033254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130849. 1
878270130850. 2
878270130851. 3

878270130852. 4

Question Number : 103 Question Id : 87827033254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130849. 1
878270130850. 2
878270130851. 3

878270130852. 4

Question Number : 104 Question Id : 87827033255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) .(C) (D)
Options :
878270130853. 1
878270130854. 2
878270130855. 3

878270130856. 4

Question Number : 104 Question Id : 87827033255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) .(C) (D)
Options :
878270130853. 1
878270130854. 2
878270130855. 3

878270130856. 4

Question Number : 105 Question Id : 87827033256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270130857. 1
878270130858. 2

878270130859. 3
878270130860. 4

Question Number : 105 Question Id : 87827033256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270130857. 1
878270130858. 2

878270130859. 3
878270130860. 4

Question Number : 106 Question Id : 87827033257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) .4i(A) 4)

Options :

878270130861. 1
878270130862. 2
878270130863. 3

878270130864. 4

Question Number : 106 Question Id : 87827033257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) .4i(A) 4)

Options :

878270130861. 1
878270130862. 2
878270130863. 3

878270130864. 4

Question Number : 107 Question Id : 87827033258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) (B) (2)

(B) si(A) (3)
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Options:
878270130865. 1
878270130866. 2
878270130867. 3

878270130868. 4

Question Number : 107 Question Id : 87827033258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) si(A) (3)

(D) (C) (D)
Options:
878270130865. 1
878270130866. 2
878270130867. 3

878270130868. 4

Question Number : 108 Question Id : 87827033259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270130870. 2
878270130871. 3

878270130872. 4

Question Number : 108 Question Id : 87827033259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D)aC) 4
Options :
878270130869. 1
878270130870. 2
878270130871. 3

878270130872. 4

Question Number : 109 Question Id : 87827033260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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DAY D)

Options:

878270130873. 1
878270130874. 2
878270130875. 3
878270130876. 4

Question Number : 109 Question Id : 87827033260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130873. 1
878270130874. 2
878270130875. 3
878270130876. 4

Question Number : 110 Question Id : 87827033261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) Ay  (2)
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Options:
878270130877. 1
878270130878. 2
878270130879. 3
878270130880. 4

Question Number : 110 Question Id : 87827033261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270130877. 1
878270130878. 2
878270130879. 3
878270130880. 4

Question Number : 111 Question Id : 87827033262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130881. 1
878270130882. 2
878270130883. 3

878270130884. 4

Question Number : 111 Question Id : 87827033262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130881. 1
878270130882. 2
878270130883. 3

878270130884. 4

Question Number : 112 Question Id : 87827033263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130885. 1
878270130886. 2
878270130887. 3

878270130888. 4

Question Number : 112 Question Id : 87827033263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130885. 1
878270130886. 2
878270130887. 3

878270130888. 4

Question Number : 113 Question Id : 87827033264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130889. 1
878270130890. 2
878270130891. 3
878270130892. 4

Question Number : 113 Question Id : 87827033264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130889. 1
878270130890. 2
878270130891. 3
878270130892. 4

Question Number : 114 Question Id : 87827033265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130893. 1
878270130894. 2
878270130895. 3

878270130896. 4

Question Number : 114 Question Id : 87827033265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130893. 1
878270130894. 2
878270130895. 3

878270130896. 4

Question Number : 115 Question Id : 87827033266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130897. 1
878270130898. 2
878270130899. 3

878270130900. 4

Question Number : 115 Question Id : 87827033266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&iﬁ-‘lﬂ,}:f}g-hﬁnulﬁggfjuufii

e U A P2 (A)
P wetdonr B
et Slu-pf bt (O
B e S B (D)
(D) »CA) (D

(B) s(A) (D)

(D) .C)Y (3

(D) .(B) (4

Options :

878270130897. 1
878270130898. 2
878270130899. 3

878270130900. 4

Question Number : 116 Question Id : 87827033267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:fé@m‘pfu;;..ag cAHL RS 5

List I List 11
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® FF (I
© Gt (I 4
D) ewidn (V) J#ip

Choose the correct answer from the options given below :

(D (AXD, B)»-(1V), (O1D), (D) 11D
2 (A, B)ID, (OXLD), (D)-(1V)
() (AIV), B)-CID, (CO-D, (DD
@ (A1), B)-D, (O)-(11), (D)D)

Options:

878270130901. 1
878270130902. 2
878270130903. 3
878270130904. 4

Question Number : 116 Question Id : 87827033267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:fé@m‘pfu;;..ag cAHL RS 5

List I List 11
A & I,
® FF (I
© Gt (I 4
D) ewidn (V) J#ip

Choose the correct answer from the options given below :

(D (AXD, B)»-(1V), (O1D), (D) 11D
2 (A, B)ID, (OXLD), (D)-(1V)
() (AIV), B)-CID, (CO-D, (DD
@ (A1), B)-D, (O)-(11), (D)D)

Options:

878270130901. 1
878270130902. 2
878270130903. 3
878270130904. 4

Question Number : 117 Question Id : 87827033268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:5&5@‘&&.&:5 AT B

List 1 List 11
(A) sap.d O bk F
B) @ ) e
Q) Pusi (1) Sy
O (V) $omtizy

Choose the correct answer from the options given below :

(D (AD, B)IID, (O 1D, (DILIV)
2)  (A)ID, (B)-CLD), (OKIV), (D)D)
(3) (A1), (B)D), (C)-(1V), (D)1
@) (A)D, (B)-CLD), (O, (D)IV)

Options :

878270130905. 1

878270130906. 2

878270130907. 3
878270130908. 4

Question Number : 117 Question Id : 87827033268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:5&5@‘&&.&:5 AT B

List 1 List 11
(A) sap.d O bk F
B) @ ) e
Q) Pusi (1) Sy
O (V) $omtizy

Choose the correct answer from the options given below :

(D (AD, B)IID, (O 1D, (DILIV)
2)  (A)ID, (B)-CLD), (OKIV), (D)D)
(3) (A1), (B)D), (C)-(1V), (D)1
@) (A)D, (B)-CLD), (O, (D)IV)

Options :

878270130905. 1

878270130906. 2

878270130907. 3
878270130908. 4

Question Number : 118 Question Id : 87827033269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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© ot () £if
D) ol vy %

Choose the correct answer from the options given below :

(D (A, (B)-CL), (O, (D)-( V)
2 (A-D, B)-(II), (O IV), (D)D)
(3)  (AID, B)-D), (OA1V), (D)D)
@) (A)-(D, (B)-(ID), (C)LD), (DI 1V)

Options :

878270130909. 1

878270130910. 2

878270130911. 3
878270130912. 4

Question Number : 118 Question Id : 87827033269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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© ot () £if
D) ol vy %

Choose the correct answer from the options given below :

(D (A, (B)-CL), (O, (D)-( V)
2 (A-D, B)-(II), (O IV), (D)D)
(3)  (AID, B)-D), (OA1V), (D)D)
@) (A)-(D, (B)-(ID), (C)LD), (DI 1V)

Options :

878270130909. 1

878270130910. 2

878270130911. 3
878270130912. 4

Question Number : 119 Question Id : 87827033270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List 1 List II
(A) ebyy 0O g
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(D) Gei/x (V) Gyl

Choose the correct answer from the options given below :

() (A-IV), B)MD), (O, (D)-( 1)
2 (A-(1D), B)-CLD, (OKD), (D)-IV)
3 (AD, B)-D), (O-01), (DM IV)
@ (AIV), (B)I), (D), (D)D)

Options:

878270130913. 1
878270130914. 2
878270130915. 3
878270130916. 4

Question Number : 119 Question Id : 87827033270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List 1 List II
(A) ebyy 0O g
B) 14k m §
© wmiiffz ) F i
(D) Gei/x (V) Gyl

Choose the correct answer from the options given below :

() (A-IV), B)MD), (O, (D)-( 1)
2 (A-(1D), B)-CLD, (OKD), (D)-IV)
3 (AD, B)-D), (O-01), (DM IV)
@ (AIV), (B)I), (D), (D)D)

Options:

878270130913. 1
878270130914. 2
878270130915. 3
878270130916. 4

Question Number : 120 Question Id : 87827033271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D) il (V) ey

Choose the correct answer from the options given below :

() (A, B)MD), (O-(1V), (D)D)
2 (A, B)-D), (O-01), (DHCIV)
() (AIV), (B, (C-(I), (D)-(ILD)
@ (AID, B)MIV), (D), (D)

Options:

878270130917. 1
878270130918. 2
878270130919. 3

878270130920. 4

Question Number : 120 Question Id : 87827033271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:é&ﬁﬁju&hf}? éd
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(B) # D g A
€ Zb () et ) o
D) il (V) ey

Choose the correct answer from the options given below :

() (A, B)MD), (O-(1V), (D)D)
2 (A, B)-D), (O-01), (DHCIV)
() (AIV), (B, (C-(I), (D)-(ILD)
@ (AID, B)MIV), (D), (D)

Options:

878270130917. 1
878270130918. 2
878270130919. 3

878270130920. 4

Question Number : 121 Question Id : 87827033272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D) Jrfe (V) dipes

Choose the correct answer from the options given below :

() (AID, B)IV), (O-D), (DD
) (A)-(D), B, (OHIV), D)-(1)
(3 (AKIV), (B, (ORI, (D)-(I1D)
@ (AD, B)-(D), (C)-A1D, (D)-1V)

Options:

878270130921. 1
878270130922. 2
878270130923. 3
878270130924. 4

Question Number : 121 Question Id : 87827033272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) 104 M Ade
©) Lblse2i ) s
D) Jrfe (V) dipes

Choose the correct answer from the options given below :

() (AID, B)IV), (O-D), (DD
) (A)-(D), B, (OHIV), D)-(1)
(3 (AKIV), (B, (ORI, (D)-(I1D)
@ (AD, B)-(D), (C)-A1D, (D)-1V)

Options:

878270130921. 1
878270130922. 2
878270130923. 3
878270130924. 4

Question Number : 122 Question Id : 87827033273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() (AID, B)1V), (1), D)-(D
2 (A)-0D, B)D), (C)-AV), (D)-(I1D)
(3 (AXIV), (B)ID), (D), (DD
@ (AD, B)-(D), (C)-A1D, (D)-1V)

Options:

878270130925. 1
878270130926. 2
878270130927. 3
878270130928. 4

Question Number : 122 Question Id : 87827033273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D) Heds¥ V) gl

Choose the correct answer from the options given below :

() (AID, B)1V), (1), D)-(D
2 (A)-0D, B)D), (C)-AV), (D)-(I1D)
(3 (AXIV), (B)ID), (D), (DD
@ (AD, B)-(D), (C)-A1D, (D)-1V)

Options:

878270130925. 1
878270130926. 2
878270130927. 3
878270130928. 4

Question Number : 123 Question Id : 87827033274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) il t? D) sy
© ok () gl
(D) FLu (V) aripweny

Choose the correct answer from the options given below

(D (A, B, (OKIV), (D)D)
2 (AID, B)-ID), (OKIV), D)D)
(3 (A)-aD, B)ID, (OAD, (DHIV)
@ (AIV), (B, (O, (D)D)

Options:

878270130929. 1
878270130930. 2
878270130931. 3
878270130932. 4

Question Number : 123 Question Id : 87827033274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) il t? D) sy
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(D) FLu (V) aripweny

Choose the correct answer from the options given below

(D (A, B, (OKIV), (D)D)
2 (AID, B)-ID), (OKIV), D)D)
(3 (A)-aD, B)ID, (OAD, (DHIV)
@ (AIV), (B, (O, (D)D)

Options:

878270130929. 1
878270130930. 2
878270130931. 3
878270130932. 4

Question Number : 124 Question Id : 87827033275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below

(D (AXD, (B)-D), (C)-ID, (D)-1V)
2 (AIV), B)ID), (1), D)-(D
(3 (A)-aD, B)ID, (OAD, (DHIV)
@ (A)-(D), B)IV), (D), (D)-(I1D)

Options:

878270130933. 1
878270130934. 2
878270130935. 3
878270130936. 4

Question Number : 124 Question Id : 87827033275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) B i ¢4
©) Ao A7
D)yl V) difiS

Choose the correct answer from the options given below

(D (AXD, (B)-D), (C)-ID, (D)-1V)
2 (AIV), B)ID), (1), D)-(D
(3 (A)-aD, B)ID, (OAD, (DHIV)
@ (A)-(D), B)IV), (D), (D)-(I1D)

Options:

878270130933. 1
878270130934. 2
878270130935. 3
878270130936. 4

Question Number : 125 Question Id : 87827033276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below

(D (A, B, (OKIV), (D)D)
2 (A)-0D, B, (OD), (DIV)
() (AID, B)MID, (OHA1IV), DD
@ (A)-(D, B, (C)-(1V), (D)-(I1D)

Options:

878270130937. 1
878270130938. 2
878270130939. 3
878270130940. 4

Question Number : 125 Question Id : 87827033276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) o D) f iy foceiin
© Wslxr () glesselsie
D) Aneisdy (V) sresbicb

Choose the correct answer from the options given below

(D (A, B, (OKIV), (D)D)
2 (A)-0D, B, (OD), (DIV)
() (AID, B)MID, (OHA1IV), DD
@ (A)-(D, B, (C)-(1V), (D)-(I1D)

Options:

878270130937. 1
878270130938. 2
878270130939. 3
878270130940. 4

Question Number : 126 Question Id : 87827033277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() B.ACD,
20 C,ABD,
(3) D,B,CA,
4 A BCD,
Options :

878270130941. 1
878270130942. 2
878270130943. 3

878270130944. 4

Question Number : 126 Question Id : 87827033277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Ji (A
iy (B)
b (C)
Fie (D)

Choose the correct answer from the options given below :

() B.ACD,
20 C,ABD,
(3) D,B,CA,
4 A BCD,
Options :

878270130941. 1
878270130942. 2
878270130943. 3

878270130944. 4

Question Number : 127 Question Id : 87827033278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() ACBD,
() CB.B.A
) DBCA
4 A BCD,
Options :

878270130945. 1
878270130946. 2
878270130947. 3

878270130948. 4

Question Number : 127 Question Id : 87827033278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() ACBD,
() CB.B.A
) DBCA
4 A BCD,
Options :

878270130945. 1
878270130946. 2
878270130947. 3

878270130948. 4

Question Number : 128 Question Id : 87827033279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() D,AC,B,
20 AD,C,B,
(3) B,C,AD,
@4 CD,AB,
Options :

878270130949. 1
878270130950. 2
878270130951. 3

878270130952. 4

Question Number : 128 Question Id : 87827033279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() D,AC,B,
20 AD,C,B,
(3) B,C,AD,
@4 CD,AB,
Options :

878270130949. 1
878270130950. 2
878270130951. 3

878270130952. 4

Question Number : 129 Question Id : 87827033280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

(D D,CB,A,
20 C,D,A B,
3] B DA
4 A B,CD,
Options :

878270130953. 1
878270130954. 2
878270130955. 3

878270130956. 4

Question Number : 129 Question Id : 87827033280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Foges (D)

Choose the correct answer from the options given below :

(D D,CB,A,
20 C,D,A B,
3] B DA
4 A B,CD,
Options :

878270130953. 1
878270130954. 2
878270130955. 3

878270130956. 4

Question Number : 130 Question Id : 87827033281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() B,C,AD,
2f DACE
(3) CABD,
@4 D,BAC,
Options :

878270130957. 1
878270130958. 2
878270130959. 3

878270130960. 4

Question Number : 130 Question Id : 87827033281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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grl (0)
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Choose the correct answer from the options given below :

() B,C,AD,
2f DACE
(3) CABD,
@4 D,BAC,
Options :

878270130957. 1
878270130958. 2
878270130959. 3

878270130960. 4

Question Number : 131 Question Id : 87827033282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() ACD,B,
) B,C,AD,
(3) D,ACB,
4 CAB,D,
Options :

878270130961. 1
878270130962. 2
878270130963. 3

878270130964. 4

Question Number : 131 Question Id : 87827033282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() ACD,B,
) B,C,AD,
(3) D,ACB,
4 CAB,D,
Options :

878270130961. 1
878270130962. 2
878270130963. 3

878270130964. 4

Question Number : 132 Question Id : 87827033283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() AB,D,C,
2 C,B,AD,
(3) CADB,
4 D,ACB,
Options :

878270130965. 1
878270130966. 2
878270130967. 3
878270130968. 4

Question Number : 132 Question Id : 87827033283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below :

() AB,D,C,
2 C,B,AD,
(3) CADB,
4 D,ACB,
Options :

878270130965. 1
878270130966. 2
878270130967. 3
878270130968. 4

Question Number : 133 Question Id : 87827033284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-g&j@'pfg’;é‘d LJF'-’:-::L;!&)E

Lo fip (A)
gy (B)
dwsts ()

A D)

Choose the correct answer from the options given below :

(D ABCD,
) B,C,AD,
(3) D,ACB,
@4 B,AD,C,
Options :

878270130969. 1
878270130970. 2
878270130971. 3

878270130972. 4

Question Number : 133 Question Id : 87827033284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-g&j@'pfg’;é‘d LJF'-’:-::L;!&)E

Lo fip (A)
gy (B)
dwsts ()

A D)

Choose the correct answer from the options given below :

(D ABCD,
) B,C,AD,
(3) D,ACB,
@4 B,AD,C,
Options :

878270130969. 1
878270130970. 2
878270130971. 3

878270130972. 4

Question Number : 134 Question Id : 87827033285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U

dbuf.jlb“glf (A)

V'Bi'{f‘/ (B}
FO s (0
A58y (D)

Choose the correct answer from the options given below :

() ACD,B,
20  B,C,D,A,
(3) D,CAB,
@4 C,D,B A,
Options :

878270130973. 1
878270130974. 2
878270130975. 3

878270130976. 4

Question Number : 134 Question Id : 87827033285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U

dbuf.jlb“glf (A)

V'Bi'{f‘/ (B}
FO s (0
A58y (D)

Choose the correct answer from the options given below :

() ACD,B,
20  B,C,D,A,
(3) D,CAB,
@4 C,D,B A,
Options :

878270130973. 1
878270130974. 2
878270130975. 3

878270130976. 4

Question Number : 135 Question Id : 87827033286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2l

1P st (A)
dhbil  (B)
mEgegmi (0

ik At (D)

Choose the correct answer from the options given below

() AB,CD,
2 C,B,AD,
(3) B,C,D,A,
@4 D,AB,C,
Options :

878270130977. 1
878270130978. 2
878270130979. 3
878270130980. 4

Question Number : 135 Question Id : 87827033286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2l

1P st (A)
dhbil  (B)
mEgegmi (0

ik At (D)

Choose the correct answer from the options given below

() AB,CD,
2 C,B,AD,
(3) B,C,D,A,
@4 D,AB,C,
Options :

878270130977. 1
878270130978. 2
878270130979. 3
878270130980. 4

Question Number : 136 Question Id : 87827033287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i nl ALy F S Uin gL ettt
st g s EE RIS GENS G i I 1 Lok
B LB s e I ok

2 Wslgudss (D)

Y35 | 071l I (2)

e sbllgnC Iy (3)

_,;_._f-‘;"ud_@,lhmg. 4)

Options :

878270130981. 1
878270130982. 2
878270130983. 3

878270130984. 4

Question Number : 136 Question Id : 87827033287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
:é&ﬁiﬂ,,lﬁfjﬂﬁa;;;.;ifgju-k_,,:gfzra.:;|:_l=~.;,~u:J_'5
Gt i s ES RIS FNA GBI Lk
B SPpshemie e I ol
_ﬁgllx:llgguﬁn (1)
Y, 3% | 07l [T, (2)
e el G I (3)
_,.;_._"";lldy.mwldg (4)

Options :



878270130981. 1
878270130982. 2
878270130983. 3

878270130984. 4

Question Number : 137 Question Id : 87827033288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

L = o
;giifu:;wu"fugfﬁéagaﬂ Ut st it s
_h?ﬂl.pﬁ)flf‘i:li.;{t}ﬂ:' S D

™ & G - 5o
_Lﬁl_/"‘,l_.ﬂ:b/ﬁfﬂi_.-uﬁlf*uljbdﬁl : ”-C«I,I:"

-G sl usss (D
27 | D711 IS YO (2)
sl Iy 3)
G lgembley @

Options :

878270130985. 1
878270130986. 2
878270130987.3

878270130988. 4

Question Number : 137 Question Id : 87827033288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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,Lﬂ?mlaﬁi’jrrugbﬂﬁ' S B
G L d S 1 Degk

& Wslapusdss (1)
sl sy (2)
e slign® e 3)
& lgmle @

Options:

878270130985. 1
878270130986. 2
878270130987. 3
878270130988. 4

Question Number : 138 Question Id : 87827033289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T M A T ) R s
R S I L T (o PSP & ST ITIY, P BRI LG AW

—.L.‘quﬁwhr’!if ] 802)}'9’#{{}/;‘:EDGJL::{}CIII:.JL.JJ}:‘J;-'_; 180 IET__L?rﬂﬁ: . l"'C/IL'r
F R 18023 A TLeg

2 Wslgbuss (D
D%+ | 0T 1] (2)
el Iy 3)
B lgealyy @)

Options :



878270130989. 1
878270130990. 2
878270130991. 3

878270130992. 4

Question Number : 138 Question Id : 87827033289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

- & owa rf - - g 'i > H
:;u»»@ufl,r.gﬁ::i%;.;fj Uy ;;-J&f«:,:_wtg;;ur:u'_',+

W s L1802 s fralloslh S S LA801 L e 1 Lok
- 'f:vr:;wﬁ‘ud{#;jﬁfuf;1302;51;%;%:35,; le..;,ll_..r_

G Wlpkuds (1)
LBl s (2)
e sllghsG I G
< E gl @

Options :

878270130989. 1
878270130990. 2
878270130991. 3

878270130992. 4

Question Number : 139 Question Id : 87827033290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



g isdinl MLy i Win L ettt
-—u.,u'Lr"uJJLfn—L '“w—‘l'f i Ef‘ﬂ' J’ L’ L; S T
IS G (778 O WU Ay LN S T | HEP

& Ul (D)

el Iy (@)

ool (3)

_L,g,r’f Ul sl 4)

Options :

878270130993. 1
878270130994. 2
878270130995. 3

878270130996. 4

Question Number : 139 Question Id : 87827033290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
:é&}lﬁurflfijﬁ:i&J;:;.;r‘:’fufu-mi’ér):;I:‘L_s.u\-_,f:uti
SN TSy 8w Frwde 0 Lok
NN IO (17 PR AL L T | WD
& Homslete (1)
_r_hl;lluLu-l’fluLa (2)
sy ollgloslpl (3)
_u;r’f Usollgl sl 4)

Options:



878270130993. 1
878270130994. 2
878270130995. 3

87827013099%6. 4

Question Number : 140 Question Id : 87827033291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ok kil #
:é&ib"fp(.'-l:?@' ﬂ!f.c'ﬂga"..xﬁ e -'?f".”c,.'..wl:y.ndui
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. e
PRI

#ﬁd)?l{gﬂwma;lwhfm;gwu.f.-,up',.;.tﬁnﬁwJﬁalé)’uaw'l;f.{.Lxﬁ‘gbﬁl” Al
e

r.f Hhosselel, (1)

cullggally )
buinllglol )
6 Uil @)
Options :
878270130997. 1
878270130998. 2

878270130999. 3

878270131000. 4

Question Number : 140 Question Id : 87827033291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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léT,_'}:...“.;:_

r_f Mglostsblel (1)

cllggally Q)
ebuillglsly. ()
L{?é; Jeollpgbalegle  (4)
Options :
878270130997. 1
878270130998. 2

878270130999. 3
878270131000. 4

Sub-Section Number : 2
Sub-Section Id : 8782701414
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827033292 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827033293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

L )

-;"_Mﬁ.__f IS o ¥ 2 ) h_:u..&
el e “eg” e PP L e

el ey 2 (D

Yol (2)
JHee ()

2l g inet e (4)
Options :
878270131001. 1
878270131002. 2
878270131003. 3

878270131004. 4



Question Number : 142 Question Id : 87827033294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-

eSS B L B

cF L ag e 2 @y

Juelye 2 (2)

:Lﬁ,'rl._.'b//"f (3)

-
M (4
Options :

878270131005. 1
878270131006. 2

878270131007. 3

878270131008. 4

Question Number : 143 Question Id : 87827033295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
?l..-c.'?L.jy..L'r‘f-fﬁﬁalu'kﬁ-{—L;Tn-,-:r::um—,-ﬁglJJIJ”fo%LJFEIde
WA (1)
Ry (2)
J?’é{,;sl_:;"hd__d (3)

wiosalr  (4)
Options :
878270131009. 1
878270131010. 2



878270131011. 3

878270131012. 4

Question Number : 144 Question Id : 87827033296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T rf TR A T U o o S e
St Al e L Ll Ve e LR Y

SHers (D)

Q)
S (3)
JSHize (@)

Options:

878270131013. 1
878270131014. 2
878270131015. 3

878270131016. 4

Question Number : 145 Question Id : 87827033297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
WIS L b e W LU I8 A
B el aind (1)
WL ul e @
LMl (3)

Fa

B el dpde (@)



Options :

878270131017. 1
878270131018. 2
878270131019. 3
878270131020. 4

Question Id : 87827033292 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)

Question Label : Comprehension
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oy 4 . Uﬁ’ N 7 Ay A ) B VA VR
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e ¢ b o e of i4 o
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Sub questions

Question Number : 141 Question Id : 87827033293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el oS e g Ut A L e A
P e ey 2 (D
ArF @)
Mz 3)
a3z inel ol (4)
Options:
878270131001. 1
878270131002. 2

878270131003. 3

878270131004. 4

Question Number : 142 Question Id : 87827033294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S BIS A B S L A
eF L aege 2 (1)
Ll age o (2)
:L:";rl:'ﬁ:;‘”‘ (3)
'
M (4)
Options :
878270131005. 1
878270131006. 2

878270131007. 3

878270131008. 4

Question Number : 143 Question Id : 87827033295 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
WGV LB g ST LTS Bl PP R LU Ay
WA (D)
Y (2)
ot (3)
e aesal (D)
Options :
878270131009. 1
878270131010. 2

878270131011. 3

878270131012. 4

Question Number : 144 Question Id : 87827033296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o (B r-J’J TR o T PO o b it e
-:-uv'—wbcfu A G e e LRI U

SHiers (D

|3'$;IJ (2)
SiE (3)

SHiee (@)
Options :
878270131013. 1
878270131014. 2

878270131015. 3



878270131016. 4

Question Number : 145 Question Id : 87827033297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
WIS L e LU IS 2
G aind (D)
WISl ul Fe Q)
G el g (3)
-LEL»ETJWPT.ILJ{JJL? (4)

Options :

878270131017. 1
878270131018. 2
878270131019. 3

878270131020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701415
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827033298 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827033299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Yl w1l £ = A e
dilly: T
Al ()
2l 13

2 LUl (4)
Options :

878270131021. 1

878270131022. 2

878270131023. 3

878270131024. 4

Question Number : 147 Question Id : 87827033300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



F‘"—L}wﬂ- u}:é’ uﬁi"nﬁ?ﬁﬁﬁayﬁfu’@'lﬂ:u:{i
K,
Hex @
VA S &)
J::{if?_.jc,‘r 4)
Options:
878270131025. 1
878270131026. 2

878270131027. 3

878270131028. 4

Question Number : 148 Question Id : 87827033301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e 5 e o B2
.,_j:-'uul:_j; (1)
L,ijjn"_-f!! (2)
Freri ()
.,j'-J mig (4)
Options :
878270131029. 1
878270131030. 2

878270131031. 3

878270131032. 4

Question Number : 149 Question Id : 87827033302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S L b A7) A e
ACL (D
f:‘ Ll (2)
7 TS (N )

ST @
Options :
878270131033. 1
878270131034. 2
878270131035. 3
878270131036. 4

Question Number : 150 Question Id : 87827033303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

sl ol o) GBI i

-

Bl (D
I:;.-,,S,;«" 2)

|:'I_.'EL,.“-:J (3)

s (4)
Options :
878270131037. 1
878270131038. 2
878270131039. 3

878270131040. 4



Question Id : 87827033298 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
:féﬁi.f:i.'?”fu(d?;'ié-_-iuzukiflﬁ Lelly
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Sub questions

Question Number : 146 Question Id : 87827033299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et el Lo e i e
2Ly (D

L (2)

-

<
2o D

Llur (@)
Options :
878270131021. 1
878270131022. 2
878270131023. 3

878270131024. 4



Question Number : 147 Question Id : 87827033300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
te 0¥ = U s U e S

Jf( 19, (1)
V7))
K 3)
J::{E’?_.j:} 4)
Options :
878270131025. 1
878270131026. 2

878270131027. 3

878270131028. 4

Question Number : 148 Question Id : 87827033301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I W T
V?JJJGL:_; (1)
L,EJJJ.*_.fss (2)
et (3)

.,j'-J mig (4)
Options :
878270131029. 1

878270131030. 2



878270131031. 3
878270131032. 4

Question Number : 149 Question Id : 87827033302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
O g O ™ G B g 11 197 B
HCL (D
Addus @
ai.;;b/l"j...l.jl (3)
W @
Options :
878270131033. 1
878270131034. 2

878270131035. 3

878270131036. 4

Question Number : 150 Question Id : 87827033303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Cesl o e e 5 i B
ré~ (D
=
e S 7~ (2)
|;_."EL,.‘{:J (3)

s = (4)

Options :



878270131037. 1
878270131038. 2
878270131039. 3

878270131040. 4



